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QUESTION 1

A 120-volt electrical power supply produces 1/2 ampere to the load. The power delivered is
A. 60 watts

B. 60 ohms

C. 240 watts

D. 240 ohms

Correct Answer: A

Explanation:

Power = voltage x current (in watts) = 120 volts x 1/2 amp = 60 watts.

QUESTION 2

Not counting the sun, the closest star to the Earth is
A. Rigel

B. Proxima Centauri

C. Antares

D. Betel

Correct Answer: B

QUESTION 3

At which temperature would water freeze if recorded on a Fahrenheit thermometer?
A. 32 degrees

B. 15 degrees

C. 0 degrees

D. 21 degrees

Correct Answer: A
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QUESTION 4

The atomic number of an atom is determined by
A. the size of its nucleus

B. the number of protons

C. the number of electrons

D. its location in the periodic table

Correct Answer: B

QUESTION 5

Humans have ____ pairs of chromosomes.
A. 13

B. 23

C. 46

D. 47

Correct Answer: B

Explanation:

Humans have 23 pairs of chromosomes, or 46 chromosomes in all.
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